count

count

60 -

40

20+

0_ | | . | |
—O:lO —0105 O.bO 0.65 O.IlO
Differences between data set specific

ACC values obtained for RFextrl and for RF

60 -

40

20+

el =

—(;.1 0:0 0.1
Differences between data set specific
ACC values obtained for RFextr5 and for RF

Differences between data set specific
ACC values obtained for RFextrl and for RF

Differences between data set specific

ACC values obtained for RFextr5 and for RF

0.05

0.00

-0.05+4

-0.10 1

0:5 016 017 0?8 OT9 1:0
Data set specific ACC values obtained for RF

0.14

0.0

-0.14

-0.2 1

015 076 0:7 078 O:9 1.0
Data set specific ACC values obtained for RF




